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Topic:- MICRD PHD 52

1) Extended spectrom beta-lactamases (ESBL) do not confer resistance to
[Question ID = 1899]

1. Benicillins [Option D = F550)

I_ Monobactams [Option ID = 7591]

3. Carbepenems [Option 1D = F592)

4. Depiminc-cephalosporins [Option 1D = F593)

Correct Answer -
& Carbapenems [Option 1D = F592)

1) A protein sample of 2mg/ml concentration was provided to a class. Students were asked to calculate molar concentration
of the wample il molecular weight of the protein is 50 kDa. The class came up with 4 different values. Choose the cormect

aption
1 r E B
pouM 4x10tmM 0. 04mM 4w 10 M

[Question ID = 1900]
1. Only 2and3

[Option I = T554]
I Only1

[Option ID - 7595)
3.1, Yand4

[Option 1D = T55&]
4. Only 4

[Oation 1D = F557)

Correct Answer --
& 1, 3 and 4

[Option I - T59&]

3) In plasmid ColE1, what would be the copy number phenotype of a mutant that carries a point mutation inactivating the
promoter for REA 117

[Question ID = 1901]

1. Lower than usual [Option 1D = 759E]
I Migher than wsual [Option D = F5%9)
1. Mo change [Option ID = FE00)

4. Plasmid will be lost [Option 1D = T4

Correct Answer --
# Plasmid will be lost [Option 1D = T

4) In lpop-mediated isothermal amplification (LAMP), the DHA polymerase has which of the following properties?
[Question ID = 1902]
1. DA polymerase with strand displacement activity [Option B = Ta02]

I. DMA polymerase with strand replacement actrty [Option D = 7800)
3. DHA polymerase with strand editing activity [Option D = T504]
4. DHA polymerase with strand ligation activity [Option 1D = P05)

Correct Answer --
» DOHA polymerase with strand displacement activity [Option i = Ta2]

5) Which one of these 5 not a giant virus?
[Question ID = 1903 ]

1. Mimivirus [Option 1D = Te0E)

I Mamavines [Option 1D = T607)

3. Momavines [Option 1D = Te08]

4. Pandoravine [Option I = Te09)

Correct Answer -

& Momaovires [-|'_'||:.t|:||1 D = I-H]B] M.Fifﬂmﬂﬂkﬂl“.ﬂﬁm
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3. SAGE [Option ID = T&1Z)
4. BHa-zeq [Option 1D = T811]

Comrect Amswer --
# Chromatin immunoprecipitation [Option ib = Té11]

7) Folic acid analegs are potent inhibitors of different types of cell proliferations because of all except one of the following

reasons:

[Question ID = 1905]

1. They are competitive infribitors of dibydrofolate reductase [Option D = To14)

I. They inkibit completion of the purine ring to form inosine monophosphate [Option 1D = Té15]
1. They inhibit the conversion of JUMP to TMP [Option 1D = T818]

4. They inkibit completion of the pyrimidine ring to form orotic ackd [Option 1D = T617)

Correct Answer =-

# They inkibit completion of the pyrimidine ring to form orotic ackd [Option 1D = T617)

8) Dwring batch filtration process of a fermentation broth wsing a gravitational flow, the rate of flow in the column i given
by which of the following expressions, where p is liquid viscosity; L is depth of the filter bed; AP s pressure difference

across the filter bed; A is area of the filter exposed to the liquid; and K & a system constant
[Question ID = 1906]
1. E.p.dPra L [Option B - TE18]

I pAARNICL [Option D = Fa19)
3. K.&.p FLAP [Option 1D = &30

4. KE.AAPpL [Option I = 7621)

Correct Answer -
& E_A AP L [Option I = T821)

9) Viruses are parasites of cellular machinery, whereas virsids are parasites of cellylar

machinery

[Question ID = 1907
1. Replication, Transiation |

3. Transcription, Replication |
4. Translation, Tramsoription [Option 1D = FA25)

Correct Answer -
# Translation, Tramsoription [Option ID = T&25)

10} Four proteins A, B, C and D (pl walues of 5.2, 7.0, 3.7 and 9.2, respectively) are to be purified by anion exchange
chromatography using Q-5epharose column. ‘Which statement regarding jon exchange chromatography is correct?
[Question ID = 1908]

1. dnion exchanger should be wsed at 2 pH lower then pl of the desined protein [Opiion 1D = T626]

I. At p# 9.0, proteins & and £ will be deprotonated while proteins B and D will be protonated [Option 1D = F&XT]

1. Protein € will be protonated at pH 9.0 [Option ID = TE2E]
4. Cation exchanger ts mone suitable for Prokein C since it will be protonated at acidic pi [Option 1D = T62%]

Correct Answer --
# Protein C will ke protonated at pH 9.0 [Option 1D = TaIH)

11} In liguid-liguid extraction of product from the fermentation broth, a very high value of partition coefficient (K) implies

[Question ID = 190%]
1. Extraction of product is difficult [Option B = TA30)

I. Extraction of product 5 easy [Option 1D = T&I1)
3. Co~ourrent multistage systems required for product extraction [Option 1D = TaXZ)
4. Counter-ourrent multistage systems reguired for product extraction [Option 10 = Ta33)

Comect Answer -
® Extraction of product s eagy [Option 1D = F&31]

12} Wiroids are Known to:

[Question ID = 1910]

1. Infect only andmals, and classified in two famdies [Option 1D = 7634)
I_ Infect only animals, and classified in three families [Option D = 7815]

1. infect only plants, and classified in two families [Option 1D = Té3&)
¥ " [ 3] 723 won I = |
Correct Answer -- www_ FirstRanker.com

# Infect only plants, and classified in two families [Option 1D = Té38)
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3. Enzymatically unmodifying the modified nucleotide [Option 1D = )
4. Double strand breaks on either side of the modified nucleotide followed by repair [Option 1D = T6a1)

Correct Amswer =-
& Excision of the madified nucleotide by glycomylases followed by repadr [Option 1D = Ta39)

14) Caleulate the minimum amount of glucese needed to produce 15 ¢ of E. ooli cells using glucose as sole carbon source
assuming the chemical formula of E. coli is CH1 g0 sMa 2

[Cuestion ID = 1912 ]

1. 15.00 g [Option 1D = Fédd)
I 14,434 g [Option ID = Téa1]
3. 18293 g [Option D = Ttd]
4. M0.393 g [Option iD= Tets)

Correct Answer --
® 153973 g [Dption ID = Tédd]

15) The precursar far histidine ring is provided from

[Question ID = 1913]

1. EMP patiway [Option 1D = Tédb)

I. TCA patiway [Option 1D = TE4T)

1. Pentose phosphate patiway [Option 1D = Th48)
4. Glymnylste pattway [Option 1D = Tés9)

Correct Amswer =-
# Pentose phosphate patiway [Option iD= Thall)

16) In terms of affinity and-awidity of the interaction of wirus with bogt call receptor in genaral these interactions are of:

[Question ID = 1914]
1. Low affinity and Low avidity [Option 1D = 7650]

I. Low affimity and Migh avidiy|[Option iD = F&51]
3. High affinity and Low avidity|[Option 1D = T&5X)
4. High affindty and High awidity [Option ID = T&53)

Correct Answer --
® Low affimity and Migh avidity [Option 1D = F&51)

17} Which of the following is not a plant-based sweetener?

[Cuestion ID = 1915]

1. Brazzein [Option 1D = Fa54]
I Thawmnatin [Option 1D = TE55]
3. Monellin [Option 1D = &56)
4. Aspartame [Option 1D = T5T]

Correct Answer -
® Aspartame [Option 1D = T65T)

18} Dr. Har Gobind Ehorana developed a method te synthesize long RMA molecules consisting of short defined sequence
repeated many times in order to help unravel the genetic code, Which combination of different triplets would eccur in a

synthetic RMA comprising of a chain of UJAL repeats?

[Question ID = 1916]

1. LA and CLW [Option 1D = T&5E)

I UM, Ual and aCU [Gption 1D = F659)

3. WA, Ual, aCU and (UL [Option 1D = Meb0)
4. U, UAC and CUL [Option 1D = Feb1)

Correct Answer -
& LA, LA, AU and CUU [Option 1D = Meb0)

19} Stoke’s shift of the flusrechrome is a key parameter for fluorescence detection. Stoke®s shift is

[Question ID = 1917]
1. The emission light intersity of dfferent fluorochromes [Option 1D = 764

I. infference in emission wavelength of different fluorochromes [Option 1D = Ted1)
1. The difference between excitation and emizsion wavelength of a fluorochrome [Option 1D = Tébd)
4. The ewxcitation/ absorption wevelength maima of different fluorochromes [Option 1D = Té65)

COITECE RIbwer o
# The difference between excitation and emission ““WWE‘ ﬁ = Tihd)
........................................................... . L (LM L] R R R

20) Which of the following does not come under physico-mechanical methods of cell disruption?
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4. Eryme and detemgent treatment [Opticn 1D = Teed)

Correct Amswer =-
# Enzyme and detergent treatment [Option (D = Teb8]

21) The relationship between genomes of helper virus and satellibe virus is best explained as:
[Question ID = 191%]

1. Sateilite vines originated from helper vines [Option i = F870]

I. Melper vinus originated from satellite vires [Option 1D = T&F1)

3. Satellite wirus gemome sequence bas no homology to belper vines genome sequence [Option 1D = TaTI)

4. Satellite winus genome sequence has appros. SOE similarity to belper vines genome sequence [Option 1D = TaT3)

Correct Amswer =-
& Satellite wirus gemome ssquence hias no homology to helper vine genome sequenice [Option 1D = T6TE)

22) The 0.5 ml of a protein sample A was diluted with 1.5 ml water. Te 1ml of this diluted selution, 4 ml of biuret reagent

was added. The color thus developed was found to have an absorbance of 0,24 at S40nm. Calculate the protein
concentration in sample A |assuming that the protein has an extinction coefficient a"™¥ of 0,06 using the same protocal)
[Question ID = 1920]

1. 160 mg/mi [Option ID - T674)

2. 120 mg/mi [Option iD= T675]

3. 16 mgdmi [Option iD= TaRa)

4. 12 mg/mi [Dption D - T677)

Comect Answer -

® 16 mg/mi [Option 1D = F6TE)
23) According to Stoke's law, the rate of sedimentation of spherical particles suspended in a fluid of Hewtonian viscosity
characteristics is proportiopal to:

[Question ID = 1921]

1. Sguare of the diameter of particles [Option 1D = T6THE)
1. Dameter of the particles | n b = F879]

3. Malf of the diameter of the prticies [Option ID = Fald]
4. Cube of the diameter of the garticies [Option 1D - Té&1]

Correct Answer -
® Sgupre of the diameter of the particles [Option 1D = F&TE)

24) Thiosulfate Citrate Bile Salt (TCBS) agar is highly selective for the isolation of V. cholerae and V. parahaemolyticus as
well as other Vibrio species because:

[Question ID = 1922]
1. It contains figh concentrations of sodium thicsulfate and sodism citrate to inhibit the growth of enterobacteria

[Option iD= T&i3]
I_ Inhibstion of Gram-negative bacteria ts achieved by the incorporation of ax gall

[Cotion ID = Tai1]
1. Saccharose (sucrose] is excluded a2z a fermentable carbobydrate

[Option 10 = i)
4. The acidic pH of the medium enbances the recovery of ¥. cholerse and inhibfts the growth of others

[Option ID = T645]

Correct Amswer =-

# [t contains Righ concentrations of sodium thicsulfate and sodusm citrate to inhibit the growth of enterobacteria
[Option 1D = F&E3]

25) The bacterial cells maintain their integrity when exposed to hypo- csmotic environment by

[Question ID = 1924]

1. Accumulating camolytes [Option 1D = Ta80)

I_ Owerexpressing aquaporins [Option 1D = F6%1)
1. Opening mechanosensitree channels [Option iD= Tésd)
4. accumulating potamsium and glutamate [Option 1D - TE93)

Correct Amswer =-
W{ﬁ:ﬂu e 'hﬂ"

26) Which growth medium is used to mﬂmntmmm%m ather pathogens
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[Option il = Fa&%5)
3. Mannitol salt agar (W54)

[Option i = T&%4]
4. Mektoen enteric Agar

[Option 1D = T&ET)

Correct Answer --
& Hekiosn entenc Agar

[Option 1D = T&ET)
27) The human gendme was sequenced by:
[Question ID = 1926]
1. Chromosome walliing [Opticn 1D = TE9E)
I Chromosome jumping [Option 1D = F6%49]

3. Shotgun seguencing [Option 1D = 7700
4. Primer walking [Option i = FFo1)

Correct Answer --
# Shotgun seguencing [Option 1D = 7700

2B) The conversion of pyruvate to acetyl Col and O3
[Question ID = 1927]

1. Is reversible [(ption 1D = THIZ)
I. inmvolves the participation of lipodc acid [Option 1D - THIY)
1. ks activated when pynmate dehydrogenase complex is phosphorylated by a protein kinese in the presence of ATP [Option 1D = 7704]

4. Depends on the coenzyme biotin [Option 1D = TH0S)

Correct Answer --
# Imvolves the participation of Yipodc acid [Option 1 - THI3)

29) The fully autemated ficrobial identification system OMMILOG utilizes growth based technology which is based on

[Question ID = 1928]
. Condation of Sunset Yellow FQF azo diue to bacterial resulting in formation of cotor [Option i = FH06)

Bedurtion of the tetrazolium dye due to inoreased cell respiration resulting in formation of 2 purple color [Option B = F707)
- Cooidation of the tetrazdium dye due to increased cell respiration resulting in formation of a punple color [Option 1D = TA0E]
Beduction of Suraet Yellow FCF azo dye due to bacterial growth nesulting in formation of crange color [Option 1D = 0]

B e

Correct Answer --
» Reduction of the tetranolium dye due toincreased cell respiration resulting in formation of a purple oolor [Option B = 7707

30) You wish to purify a protein by hydroghobic interaction chromatography using octylsepharode column. As per the Known
protocal, the protein can be eluted from the column using 20 ammonium sulphate ((MHaS06). However, (HHg 2504 s
currently not available in youwr laboratory and you are advised bo use sodium sulphate Na,50, instead. What is the maolarity of

a5 0y required to elute the protein?

[Question ID = 1929]

. Molarity of Ma;50, should be higher than (MH.)50, [Option B = 7710
Maolarity of May50y should be lower than (M50 [Dption 1D = T711)

- Molarity of Ma504 should be same 25 that of [MHs50s [Option 1D = TF1Z)
Ma35 04 canmot be vsed to replace (MHy)z%0y 25 Nag50sis 2 neutral salt while (M504 15 an acidic salt [Option D = TF13]

B

Correct Answer --
# Molarity of Mai1504 should be same a5 that of [MHsRS0s [Dption iD= TF1Z)

31) Which af the following is not a heme-containing ligninolytic enzyme?

[Question ID = 1930]

1. Manganese Perowidase [Option 1D = 7714]
I. Wersatile Perowdase [Option 1D = 7715]
1. DyP-type Peroodsss [Option 1B = T714)
4. Laccase [Option ID = FF17]

Correct Answer -
# Laccase [Option 1D = FF17F)

32} W probability of developing resistance against one drug is 10~ and against another drug is 10%, then probability of

development of resistance against Doth will be:
[Question ID = 1931] www.FirstRanker.com

;| 14134 [ripsinn ) o TFIA)
I 10 [Option 0D - FT14]
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33) A protein X was found to be of molecular weight 100 kDa by gel filtration analysis. When it was resolved on S05-PAGE
twio bands of sizes 50 kDa and 25 kDa were observed. Which of the following statements is incanrect?

[Question ID = 1932]

1. The protein comprises of two subundt types of sizes 50 kDa and 35 ka [Option 1D = T3]

I_ The protein is a heterodimenic protein. [Option 1D = T71)

3. The protein is trimeric in nature [Option 1D = 7724]

4. Gel filtration analysis allows the determination of natte molecular weight  of a protein [Option i = T725]

Correct Answer -
- T‘hl.-prvut-nrns a heterodimemic pﬂ:tm |Clnt|nn I = i"'.".‘i'_'l-]

34) Which archaea phylum is considered as a link between archaea and eukaryotes?
[Question ID = 1933]

1. Aigarchaeota [Option 1D = FF26)

I Lokiarchaeota [Option 0 = T727]

3. Crenarchaecta [Option ID - 7728]

4. Thavmarchasota [Option 1D = TTH)

Correct Answer --
* Lokisrchaeota [Option i = 7727

35) Why is it necessary to wash the plate repeatedly during different steps of ELISA?
[Question ID = 1934]

1. It is mecessary to keep the wells of ELEA plate always clean for test to work [Option 1D - F70)

I_ It is mecessary to wash away all bound antigens and antibodies [Option iD= F7131]

1. It is mecessary to wash away all unbound antigens and antibodies [Option ID = TFI13)

4. It is necessary as & good lab gractice [Option 1D = 7711)

Correct Amswer =-
® [t is necessary to wash away $ill bound antigens and antibodies [Option 1D = T731]

36) An E. coli mutant wi
dikimase activities, was
succinate via gluconeogenstic pathway?
[Question ID = 1935]

. PEP carbowylase and Pynuvate carboxylase [Option I = F734]
- PEP carbooryiiress only [Option 1D = 7715]

- PEP carbouykinase and Fumarate reductase [Option 1D = 7718]
. PEP carbaxylase and malic enzyme [Option D = FF1F)

had three deletions and had lost pyruvate kinase, PEP synthetase, afd pyruvate phosphate
activities isfare essential for the nutant to grow on

.hl.-H—-

Comect Answer -
# PEP carbowyicirese only [Option 1D = 7735)

37) The refractory gold ere is naturally resistant to recovery by standard
[Question ID = 1936]
- Cyanidation and carfon adsorption processes [Option 1D = 7738)
- Hydrolysis and carbon adwonption processes [Option IR = 7715]
. Coodation and carbon adsorption processes [Option i = F740)
. Roastirg and carbon adsorption processes [Option 1D = T141)

.hl.-H—-

Correct Amswer =-
# Cyanidation and carbon aderption processes [Option 1D = F738)
38) DM5O is used as a cryoprotective agent in freezing media because:

[Question ID = 1937)

1. It helps to prevent water crystals from forming inside the cells which can burst cell membranes [Option 1D = T74Z)

I. It can be vtilized &5 nutrient source by cells thereby preventing cell death [Option i = F743)

1. it can coaurse cell oycle arrest therety preventing cell growth dunng freezing. and improwving cell survval [Option D = 7744)
4. It is a good solwent for all types of cells and & very cheap [Option 1D = 7745]

Correct Answer --
# [t helps to prevent water crystals from forming inside the cells which can burst cell membranes [Option 1D = T74Z)

39) Two proteins have been identified to interact with each other. To identify the domains via which they interact one
WOUID CarTy Gl
[Question ID = 1938] www.FirstRanker.com

I. Yeast one hybrid [Option ID = 7747]
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40) An alkaline phosphatase from Bacilus cereus had a Bxn of 50 mM and Ve o 10pmoles/mgimin when using the substrate
p-nitrophenyl phosphate. An error prone PCR was set up with an aim to obtain a catalytically more efficient enzyme. A% a
result of random mutagenesis, fowr different mutants, A, B, C and D were obtained. The mutants exhibited the following
kinetic parameters with p-nitfophenyl phosphate as substrate. Which mutant(s) has a catalytic efficiency better than the
native protein?

Ken(imiM ) |\r—;_p micles, mg /min)
18 fos

75 25
LE] 21
a8 jos

UHTTE_

[Question I = 1939]
1. BandC

[Option I - 7750
I A BandC

[Option ID = T751]
3. Onky B

[Option il = FF5E]
4. Only &

[Option ID = 7751

Correct Amswer =-

# A BandC
[Option ID = 7751]
41) The term “multiplicity of infection’ in viralogy refers o
[Question ID = 1940]

1. Hurnber of virions infectsd
I_ Mumber of virions added per cell [Option 1D = 7755]

3. Mumber of virions used in the experiment [Option 1D = 7756]
4. Humber of vinons added per well of a & well plate [Option 1D = 7757

Correct Answer -
® Humber of virions added per ool [Option 1D = 7755]

41} Sterilization is carried out in & fermentation vessel of 100 dm®, containing 10° organisms/om®, The acceptable
contamination risk of 1 in 100 batches & affordable. Calculate the Del factor required for the sterilization process
[Question ID = 1942]

1. 1343 [Option I0 = TT62]

. I7.43 [Option IO = T763]

3. 41.45 [Option 10 = T764]

4. 5524 [Dption 1D = TT65]

Correct Answer -
& 7 &3 [Option i = T3]

43) In a fkoccharomyces cerevisioe driven fermentation process to convert glucose to ethanol, what is the maximum
theoretical yield of ethanel when 500 grams of total glucese is utilized during the fermentation process?

[Question ID = 1944]
1. 250 grams

[Option 1B = FFHI]
I 255 grams

[Option D = F771)
3. 500 grams

[Option 1B = ¥TT2]
4. 555 grams

[Option 1D - 7771

www.FirstRanker.com

—
® I55 grams
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expressions, where X is biomass, qpis specilic pro
rate?

[Question ID = 1946]

1. ge=1/Pridiidt) [Option ID = TTTE]
I ge =1/ p"[dPidt) [Option ID = TF9)
1. ge =1/p®dS/dt) [Opkicn 1D = TTEO)
4. ge =1/ X% dP/dt) [Opticn ID = TTE1)

:I b "FlFEtRanker.mm -

Correct Answer =-

& gp =1/X%dP/dt) [Opticn iD= TTE1)

45} Ina continuous stirred tank reactor (CSTR) operation of E. coli, the following process parameters were obtained at a
dilution rate of 0.3h7 in terms of biomass yield coefficients, Calculate the maintenance requirement of the system. (Y0 .
Observed yield = 0.50 gfg Dry cell weight; " . Troe yield = 0.38 gfg Dry cell weight]

[Question ID = 1948]

1. 0.0MBY g/g Dry cell weight [Option 1D - T785]

¥_ 0.189 g/g Dry cell weight [Option ID - T787]
3. 1.89 g/g Dry cell weight [Option 1 = T788)
4. 18.9 g/g Dry cell weight [Option D - 7789]

Correct Answer -
& 0.18% gi'g Dry ool weight [Option ID = F7ET)

46) Based on results of the complementation tests carried out with mutants (shawn below), how mamy genes are there in

the pathway?
1/2|3|4|5]|6
Yl lw]=]=]=]=
2| |- [+|tete
3 - l- |+ ]+
4 EIE
5 .
&

[Question ID = 3846]
1. & [Option 10 = 15178]
1. 4 [Option 10 = 15179]
1. 1 [Option 10 = 15180]
4. 2 [Option 1D - 15381]

Correct Answer -
w I [Option 1D = 15380)

47) The double-stranded bacterial DMA sequence depicting nucleotides 1-75 (shown below) encodes for Protein 2. The
bald underlined GIC (top strand/bottam strand) base pair indicates the transcription start site, and transcription procesds
froam left o right. What will be the effect of & mutation that results in the addition of an AT base pair after base pair 142

T (1] - i
& GTGTLGGTET hTAI'PET'E.lu GATGEGATAT ACCOGGEAGT
Y- CACALDCAGA TTATRACACT CTACGHITATA THGLIDGTIA

COTATGOACA TGCTICOTAA ACOAGTEDAL ACTAA- ¥
| GCATACOTST ACGAAGCATY TGCTCAGETS TBATY &

[Question ID = 3847]

1. Transcription will £xil to initiate [Option ib = 153&3)

I. Translation will £ail to initiate [Option 1D = 15383)

3. Transcription and trarsiation will both inftiste bt the mAMA will be one nucleotide longer and due to frameshift the protedn will have an altered
amino acid sequence [Gption 1D = 15384)

4. Transcription and transiation will both initiabe bt the mBNA will be one mucleotide longer while the protein will remain unchanged [Option iD=
15385)

Correct Answer -

® Transcription and transiation will both initiate but the mEMA will be one mucleotide longer while the prodein will remain unchanged [Option 1D =
15385)

48) A gene is to be amplified for ultimately cloning it into the BamHl and EcoRY sites of a plasmid vector. Howeser, BamHI
an £lies cann ] & I primers used Tor amplilica as gene

these restriction sites, Hnﬂl:ﬁl'urmynl'me SRR WMHI and EcoRY) were present in the
N l.l. Tl T i i L1 - i LLL] -: Al T o TH uld Ak

5Ir.e af tlea'u'ape
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Sali: 8 GRTOGALT
Xhal: S THCTAGA-Z

[Cuestion ID = 3848)

1. Eglil and Hindill [Option 1D - 15388)
I. Bglll and Pvull [Option I = 15387]
3. Sall and Xbal [Option 1D = 1535E)

4. Hindlll and Pyull [Option 1D = 15389]

Correct Answer -
® Eglll and Pyull [Option D = 15387)

49) The double-stranded bacterial DHA sequence depicting nuclestides 1-75 (shown below) encodes for Protein Z. The
bold underlined G/C (top strand/bottom strand) base pair indicates the transcription start site, and transcription proceeds
from left to right. What will be the effect of a mutation that results in the substitution of base pair G/C at the 24th position
with base pair AST?

1 1 a1 I
5 GTGICRGTET AATATTGTRA GATGCRATAT ACCODGLAGT
T- CACAGUCALS TTATAACACT CTACGLTATSE ThROGLOGTCA

:TIGTJ-"EEJWU ?‘ﬁnltﬁlﬂ :mmll: :E"J-- ¥
GEATACHTGT ACGAAGEATT TGCTEAGETS TGATY -

[Question ID = 3849)

1. Translation will not smitiate [Option 1D = 15390]
I_ The protein will have an altersd amino acid sequence e bo base substitwtion [Option 1D = 15391)
3. The mutation will be a sitent mutation [Option 1D = 15]'32]

4. Transorption will termminate premes !

Comect Amswer -
# Translation will not initiabe [

50) The double-stranded
bold underlined GAC (top strand/bottom i.trand: haseer indicates the transr:r‘lpl‘l:m start site, and |transcrigtion pru-i:eeds
from left to right. What - Ly tion of hace nail

with base pair G/C?

1 L] ] L]
5 QTGTOOGTET AATATTOGTOA GATGLOATAT ADDOGHOAGT
T- CACAGUORCS TTATARCALT CTADGOTATA ToGRITGLTOA

dl a4 dl m
CLTATGLALR TGLETTOGIAA AMGAGTCGAL ACTRA - X
GLATACGTOT ACGAAGEATT TGLTCAGCTG TRATT 4§

[Question ID = 3850]

1. The mutation will heve no effect [Option 1D = 15394)

Z. Translation will mot oocur [Option ID = 15395]

3. Translation will ooour but the protein will hawve an altered amine acid sequence due o bese substitution [Option 1D = 15198)
4. Transiation will ocour but a truncated protein will be formesd [Opkicn 1D = 15397

Comrect Amswer --
# Tramslation will eccur but a tnencated protein will be formeed [Option 1D = 15397
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